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St g& Jrgar qae
MENTAL ABILITY TEST
39 UH-UT | Hel 50 AT ¥ | UAF U UH 3k HT 2|

THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W91 (1-4)/ Questions (1-4)

&I T 1 W 4 TF U H TH FER-GUT < A ¥, TEH UP U o & S U
ok (7 ) 9 IR T E | FE UG 3T S0 F A qF T AR Thedi H ¥ UF €1 Gal Theq
T I ST

Direction : In each of the questions 1 to 4 some of the letters are missing in the
given series with one term missing shown by question mark ( ? ). This term is one of
the alternatives among the four groups of letters given under it. Find the right
alternative.

1. Z,W,S, ?.

() P 2 O 3 N 4 Q.
2. AN, CP, FS, ? .

(1) 1Iv 2) JW B KX (4) LY.
3. MYZ, LWX, _? ,JST.

(1) Kuv (2) IQR (3) HOP (4) GMN.
4, bdf, hjl, _? , tvx.

(1) nrp (2) pnr (3) nqr (4) npr.

W91 (5-8)/ Questions (5-8)

eI : WA 5 ¥ 8 IF TS H UH -GN & T ¥, STEH UH US W & S WA
s T (?) U WA TR | T8 US 37 S0 F Y ¥ T AR ahedl d H Uk § | Wel dohed
A SIS

Direction : In each of the questions 5 to 8 some of the numbers are missing in
the given series with one term missing shown by question mark ( ? ). This term is one
of the alternatives among the four numbers given under it. Find the right alternative.

5. 8, 27, 64, ? , 216, 343.
(1) 125 2) 81 (3) 100 (4) 196.
6. 5, 11, 19, 2, 41.
(1) 28 2) 29 (3) 30 (4) 35.
7. 120, 2?2, 24, 6, O.
(1) 100 2) 70 (3) 60 4) 20.
1 1
— ? _
8. 729,81, 9, 1, 5, 2, =>5.
1 1 1 1
0 27 @) 51 ®) 243 *) 286
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WA (9-11)/ Questions (9 -11)

AW ;AN TS WS W QU 3R I TSR I 3R I ST U E | SR JU U T
I GT AT €, 91 & O Gam 92 ¥ 9 Udid e €1 TShul ol U Y I8 oF ST &
HIF-T TEHY TT T FHYAT T T T T F STTE0T AT ¢ |

Direction : In each of the questions below are given two statements and two
conclusions numbered I and II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known facts. Read the conclusions
and then decide which of the given conclusions logically follows from the two given

statements.
9. wYUA: @ ;9 U U €
G : @ UT HAER E
T : @ G e A E

1) : 9 I
(1) ool T=F9 [ T €
(2) hoeT =Y I T &
(3) SHI T&RY I 3R 11 9T €
(4) A Y SR T & TRY 11 T B |

Statements (i) All pencils are pens.
(i) All pens are markers.
Conclusions (I) : All pencils are markers.
(I - Some pens are pencils.
(1)  Only conclusion I is true
(2)  Only conclusion II is true
(3) Both conclusions I and II are true
(4)  Neither conclusion I nor conclusion II is true.
10. U : 0 : T TS MEE
@) : T TEE o B
THY : O : TS Golel a=

@ : 9 e o gl
(1) hael TRy [ T &
(2) A TR I T §
(3) SIFT RN I AR 11 G &
(4) T =Y AR T & THY 11 T B |

Statements (i) Some players are singers.
(i) All singers are tall.

Conclusions (I) : Some players are tall.
(Im All players are tall.

(1)  Only conclusion I is true

(2)  Only conclusion II is true

(3) Both conclusions I and II are true

(4) Neither conclusion I nor conclusion II is true.
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11. YA :

(i)
(i)

T 0

(1)
(2)
(3)
(4)

(II)

(5)

Tt IR &R T |
FD BRI & |
F Al TR E |
Toft R T £

<
chdcel by I Hc %

FeoT TN 11 9T &

T TSR [ 3R 11 9T &
T THY [ 3R T E TR 11 T B

Statements (i)

(i)

Conclusions (I)

(1)
(2)
(3)
(4)

(1)

(3)

(1)

All stones are diamond.

Some diamonds are pearl.

Some pearls are stone.

All diamonds are pearl.

Only conclusion I is true

Only conclusion II is true

Both conclusions I and II are true

Neither conclusion I nor conclusion II is true.

12. T § Q@ HHA-T oF NG §F, IIar 3R SAFERY T Gl &Y H TSI el & 2

©0

OO
O

(2)

(4)

Qo

MAT-1

Which of the following Venn diagrams correctly represents intelligence, ability
and honesty ?

(1)

(3)

13. = § 9 H-91 o7 3RE Cooll, YR AR TIAT 6l &l ©T H TP Har & 2
O O

(1)

(3)
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MAT-1 (6)

Which of the following Venn diagrams correctly represents Delhi, India and

Asia ?

8y @ OO
O

o (© o ()

M9 (14 -15) / Questions ( 14 -15)

14.

15.

T 3{[oNg o YN T IR &I 9T ¢

Give answer on the following Venn diagram :

. e
10 Teacher
12
o 20

graey
14 é/Doctor

17
M‘\W
Y o AH & S dF F IS gUE ?

How many persons are related to all three ?

(1) 20 (2) 12 (3) 32 “4) 17.
T Fad AHE ST el sl S GUE ?

How many persons are related to any two ?

(1) 32 (2) 34 (3) 43 4) 27.

MW (16-19) / Questions ( 16 — 19)

TEY : YT 16 ¥ 19 TF H dF dhed HUI 3T ¥ THH € W] UH dHed TG

3T €| 3TN gohed g Y ¥l SR A T@T |

Direction : In questions 16 to 19 three alternatives are alike in a certain way

but the rest one is different. Find out the odd one and write correct answer.

16.

17.

18.

19.

(1) ABNO (2) CDPQ

(3) EFRS (4) GHUT.

(1) 144, 12 2) 121,11

3) 80,9 (4) 100, 10.

(1) U9/ Pen (2) YT / Pencil

(3) dM / Chalk (4) II™HUg / Blackboard.
(1) @YUM / Haryana (2) TSNIA / Gujarat

(3) TSI / Rajasthan (4) RHAT / Shimla.
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20.

21.

22.

23.

(7) MAT-1

I T U H 3% gUId Felsh 0T Shi-| 9@ € 2

S

(1) 2 2 3 3) 4 (4) 6.
In the given dice the opposite side of the 3 face is having which number ?

Sc Al

1) 2 2) 3 3) 4 4) 6.
T U9 ! & It A €1 e €1 S 2 A dl S Sl G 4 B 2

']
LI

o®’ .

L . .

(1) 3 2 5 B 1 (4) 6.
In the given two positions of a dice, when 2 is below the dice which number is on
the dice ?

(1) 3 2 5 3) 1 (4) 6.
(22 -23) / Questions ( 22 - 23)
TSI ¢ T W ST U o S ST ¢

Direction : Answer the questions on the basis of cube :

6 THI ST atct Hdl B9 T 2 YHT ST alet 941 § IS AT ¢ df UH 5T S Fol
T §
A cube of side 6 cm is divided in the cubes of side 2 cm. Then the total number

of cubes is
(1) o9 (2) 27 (3) 81 (4) 216.

TS o9 I MHT < E €, W 3 F TUId g B9 § ?

In the given figure of cube which is opposite face of 3 ?

1
3 2
4
5 6
(1) 1 2 4 3) S (4) 6.
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24.

25.

26.

27.

28.

29.

30.

I HAl Gich Ik AT § ‘REKHA’ i ‘AHKER’ @[ Sl &, df ‘HEMA’ Sl o1&l ST

If in a coded language the word ‘REKHA’ is written as ‘AHKER’ then in the same
code language ‘HEMA’ will be written as

(1) AMEH (2) EMAH (3) MAHE (4) EAMH.
I HE FWich deh WO § CHILDREN i EJKNFTGP @l Sl €, of TEACHER &l
T SR

If in a coded language the word CHILDREN is written as EJKNFTGP then
TEACHER will be written as

(1) VGCEJTG (2) VGCEJGT (3) VGCJEGT (4) VGCGEJT.
FHHl FHe 9 H A oGl JUTHTCT U 9 & F Hohdl H S Sl A ¢

ABCDESUVMN
26§ 5450 ¢ Y § % mE 973578 BR

In a coded language the given alphabets are written in special codes.

A B CDUESUVMN
7 9 1 3 4 2 0 6 5 8

Then code 973578 will be
(1) BADMAN (2) BACMAN (3) DUEMAN (4) MANSDE.
I HA F 9 H RUSTY’ ! 96872 AT STl €, @ IHI e A H ZXWV’ Sl Tl

TR

In a coded language RUSTY’ is written as 96872. Then in the same coded
language ZXWV’ will be written as

(1) 1354 (2) 1543 (3) 1345 (4) 1534.
ABHRTAE, B, CHYANE, C, DR Y &, T AH DI T=Y T
1) [ (2) (3) Ul (4) oI

A is uncle of B, Bis daughter of C, C is the wife of D’s son. Then how is A related
toD?

(1) Son (2) Brother
(3) Father (4) Maternal uncle.

TG T &0 T 3R 8 FHH FoIdT &, Tal ° §13 ST 6 FHHI Ioidl &, ® 31 H a&l ¥ I
T 8 HH! ToIdl ¢ | TATST i UK 9o T 9 TF 31 hal g W 2

Ram travels 8 km to south, then moves to right and travels 6 km and at the end
he again moves right and travels 8 km. Then the distance of Ram from initial
point is

(1) 6km (2) 8km (3) 10 km (4) 14 km.

T A H A ‘4, 9 H AT %, O H T v @, A ¢ F A = B, al

240 6A5606¢ 14 AFE

If the meaning of Ais ‘+’, 01is ‘x’, 0 is ‘<’ and ¢ is ‘-’ , then the value of
2406A56066¢ 14 is
(1) 34 (2) 20 (3) 14 4) 2.

NTSE(I)/ 16 — MAT-98-A



(9) MAT-1

M9 (31 -34) / Questions (31 - 34)

TEW : U9 31 ¥ 34 TF H TA h I WS €, SHH U TUE I U TT o TE H
SW- T Fed ¢ | THE-TT TH FH | T & a1 U @ §U ¢ | 3TUhl SR- o § ¥ U oy
T T AT HAT §, ST AH@T- T § SFAER ST ST ST Hoh | Tel 3TR- o 37 i v |

Direction : In questions 31 to 34 there are two sets of figures, one set contains
problem figures while the other has answer-figures. There is a sequence according to
which the problem figures are arranged. You have to select an answer-figure which can
be added in sequence in the problem-figures. Choose the correct figure.

31. HHHET- 99 / Problem-figures 3T- 99 / Answer-figures
A A 0O (AO00|AO00|1ADOO AO0|OAO(XxAO[lAOO
+ x| x¥ f0| x*
(A) (B) (C) (D) (E) 1) (2 3 «@
32. UHH- YA / Problem-figures JW-TF / Answer-figures
LT T (TTT{TI THT T T
(Aa) (B) (€) (D) (E) (1) (2) 3 @
33. HHHET-TA / Problem-figures J-TF / Answer-figures
N4 |Of? 1 |1@|D |
(A) (B) (€) (D) 1 2 3 @
34. WHAE-TA / Problem-figures 3IT-TA / Answer-figures
@) O o0
o @ 2?10 o |e ® o0
(A) (B) (€) (D) (1) (2 ((3) (4

1 (35-37) / Questions ( 35-37))
W WI35T 37 HUSS H IR OF 53 T €1 390 ¥ UH 97 g T ¥ HeA e
Trar €1 39 99T T I I I ST |

Direction : In questions 35 to 37 there are four figures given. One of these does
not correlate with the rest of the figures. Find out that odd figure.

35. =/ H \X

(1) (20 ((3) (4

. 19|00

(1) (2 3 (4

37. CH u k-) m
M

2) 3 4

NTSE(I)/ 16 - MAT-98-A [ P.T.O.



MAT-1 (10)

38. T TAH T A& ?

/\

(1) 5 2) 6 3) 8 4) 10.

How many triangles are there in the figure below ?

/\

(1) 5 2 6 (3) 8 4) 10.
39. T I H e QAR AT § ?

[ [ ] ]
[ [ ] ]

1y 14 (4) 18.
How many parallelograms are there in the figure below ?
(1) 14 (2) 15 (3) 16 (4) 18.

91 (40 -42) / Questions (40 -42)

TEI : UV 40 ¥ 42 TF I TS SF o K Tel U T T I A I S|

Direction : In questions 40 to 42 find the correct mirror image of the given
figure.

40. WRA-3ATh d / Question-figure ITAL-ATH Tt / Answer-figures

/A A a4 AN

(1) (2) (3) (4)
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41.

42.

43.

44.

U1 (45 -46) / Questions (45 -46)

SW-3MF T § HH-91 3F T T 2

MRA-3ATR T / Question-figure

AP HEo

MRA-3ATR T / Question-figure

3 ME M A

The water image of the given figure

A

S

L T

B

FT ST TATE &

(11)

JI L
e d

T L
e B

2B
I L

r L
2B

(1)
IS H A

(2)

®

(3)

(4)

T ST TA T &

The water image of the given figure @

@

@

®

®

(1)

(2)

(3)

(4)

MAT-1

ITR-31F T / Answer-figures

D R A a
E A A a
A E a A
R D a A

(1) (2) (3) (4)

JAL-ATH Tt / Answer-figures

A

>

PN

>

(1)

is

is

(2)

(3)

(4)

YT : U 45 - 46 H HIST Bl THAEAN HIST T &1 T6qE U & el T &l
1

Direction :

In the following Questions 45 - 46, figures showing a sequence of

folding a paper are given. Which could resemble the figure in the Answer-figure ?

45.

WRA-3ATh LRI / Question-figures

v.iO
O:x

NTSE(I)/ 16 - MAT-98-A
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46. TRT-3Th a4t / Question-figures IAL-HATh aat / Answer-figures

s =

(1)
47. T SATRI % YT I STTT-STNT A T - soiieh I & ?

(1) 3 2 4 B) 5 4) 6.

Find the number of blocks when the given stack of blocks is separated :

(1) 3 2) 4 3) 5 4) 6.
48. T T T W HeA BAI I GEAT §

(1) 25 (2) 55 (3) 85 (4) 35.

In the given figure, the total number of cubes is

(4) 35.

(1) 25
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49.

50.

(13) MAT-1

TY T T H U Bl HigH Ueh O ST AT, O =T 2 o 9 hi9-| G A 2

1| 2
3| 4
5| 6
(1) 1 2) 3 B) 5 (4) 6.

In the given figure squares are folded and a cube is formed. Then the number

opposite to 2 is

1| 2
3| 4
5| 6
(1) 1 2) 3 B) 5 (4) 6.

O I8 o 3 aUd SoTh! 1 a1 9o d BT €

In the standard die the sum of opposite faces always remains

(1) 8 2 7 3) 6 4) S.
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SPACE FOR ROUGH WORK / 7% & & ®U W&
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